If only 6 bits are reserved for sequence number field. then the efficiency of the svstem 1=
[Question ID = 414][Question Description = 199_87_Computer_Science_0CT22_Q99]
1. 0.587

[Option ID = 1653]
2. 0.875

[Option ID = 1654]
3. D578

[Option ID = 1655]
4. 0.50

[Option ID = 1656]

%) Based on the following passage. answer the Questions :

A 3000 km long trunk operates at 1.536 mbps and is used to transmit 64 bytes frames and
usesz sliding window protocol. The propagation speed 12 6 p 2ec/lan.

The maximum achievable throughput is

[Question ID = 415][Question Description = 200_87_Computer_Science_0CT22_Q100]
1. 0,768

[Option ID = 1657]
2 0,678
[Option ID = 1658]
3. 0901

[Option ID = 1659]
4. 0.887

[Option ID = 1660]
Topic:- 11_GP_SH1_Set1_A

1)

The following table shows the percentage (%) distribution of total number of students and
total number of girls studying in s1% colleges A-F. Total number of students and givls studving
in all the colleges together are 60000 and 24000 respectively, Based on the data 1n the table.
answel' the questions 1-5

College-wise Ihstribution of Students

College Distribution (%)
Students Girls
{out of 60000) (out-of 24000)

A 10% 15%
B 9% 12%
c 25% 18%
D 18% 14%
H 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e
e Winerd (%) SeAT 21 Wl HeElawerEl § #Sagr Ay F AsHat s B T wE: 60000
A1 24000 7| T F TR F AER WU 1-5 % T A

HETI=rTeTE —= (e = e

e TEET (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 0% 12%
G 23%, 18%
D 18% 14%
E 16% 20%
F 24% 21%

The difference hetween the number

FEEEeE D B HSS99E == i S

[Question ID = 516][Question Description

1 4p40
[Option ID = 2061]
2. 4080

[Option ID = 2062]
3. 7440

[Option ID = 2063]
4. 3360

[Option ID = 2064]

2)

of boys and number of girls studying in College D 1s

A SETHd] % O & S B 6 AT 2 ¢

= 101_00_General_19_SEPT22_QO01]

The following table shows the percentage (%) distribution of total number of students and
total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are G0000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




e Tl o o W e = 2 o B i 17 e e e | e s o 7 e 7 s e 2 e 0
e Winerd (%) SeAT 21 Wl HeElawerEl § #Sagr Ay F AsHat s B T wE: 60000
AT 24000 2| T F SWT F IEW T 0T 1-5 % 55 A0

HETI=rTeTE —= (e = e

HIEE] 771 (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 8% 12%
G 23% 18%
D 18% 14%
E 16% 20%
F 24% 1%

The number of givl students studving in College C as a percentage of the number of boys
studyving in Colleze E 1=

BREEn=a E § HE5E w@edl i S % U6en % #0 § Haiaened O § A SEAl S
[Question ID = 517][Question Description = 102_00_General_19_SEPT22_Q02]
1. 7py.0
10 %

[Option ID = 2065]

[Option ID = 2066]
3 80%

[Option ID = 2067]
4. a0%

[Option ID = 2068]

3)
The following table shows the percentage (%) distribution of total number of students and

total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are 60000 and 24000 respectively, Based on the data 1n the table,
answer the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (outof 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e
ot Tiaer (%) r;la:rlrﬁ 21 ol TElEEneET § s EEaEy s F‘I—‘:'.'II:-ﬁl'Pf = E gl T FET: 60000
3T 24000 7| THT F S F 97 90 1-5 % =90 A

HETEEEE —aT (S 1 Ea

e TEET (%)
(60000 5 =) (24000 5 =)
A 10% 15%
B 0% 12%
G 23%, 18%
D 18% 14%
E 16% 20%
F 24% 21%

The averaze of the number of bovs studying 1n Collezes A. B and Cis

A B 3W C oafaaed § 35997 @oF ) O W 5088 FaA 27

[Question ID = 518][Question Description = 103_00_General_19_SEPT22_Q03]

T 4000
[Option ID = 2069]
2. 4700

[Option ID = 2070]
3. 4400

[Option ID = 2071]
4 4800

[Option ID = 2072]

4)
The following table shows the percentage (%) distribution of total number of students and

total number of givls studying in 2ix colleges A-F. Total number of students and givls studyving
in all the colleges together are G0000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
(eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 73% 18%
D 18% 14%
E 16% 20%
F 24% 21%




i Bl 1 e 1 B T o L L W B o o i B 11 e 0 e B i e o1 2 | e 1 e o 1= e

ot Tiaer (%) r;la:rlrﬁ 21 ol TElEEneET § s EEaEy s F‘I—‘:'.'II:-ﬁl'Pf = E gl T FET: 60000

AR 24000 2| TAFT F S F IGE WU 1-5 % 390 A0
HETE==E —an [FaneE F Eam

e TEET (%)
(60000 ¥ 1) (24000 9 =)
A 10% 15%
B 0% 12%
C 23% 158%
D 18% 14%
E 16% 20%
F 24% 21%
The number of girls in College F 18..........% more than the number of girls 1n College A,

1 e = B ot e = i =1 o 2 N ot 221 e = e e M e s e s e o

[Question ID = 519][Question Description = 104_00_General_19_SEPT22_Q04]

1.

2.

3.

4.

5)

25

[Option ID = 2073]
30

[Option ID = 2074]
40

[Option ID = 2075]
20

[Option ID = 2076]

The following table shows the percentage (%) distribution of total number of students and
total number of givls studying in 21x colleges A-F. Total number of students and givls studying
in all the celleges together are 60000 and 24000 respectivelv. Based on the data in the table,
answel the questions 1-5;

College-wise Distribution of Students

College Distribution (%)
Students Girls
{eut of 60000) (out of 24000)

A 10% 15%
B 9% 12%
& 23% 18%
D 18% 14%
E 16% 20%
F 24% 21%




el wier 37 wEiaEe A-F 5 S [SEnee S B WeT W6 SsehA % 5 S H

fareeT e (%) SR 21 Wl HeTEETeE H RS AT A TSRl i B JEE FE9 60000

AT 24000 2| TTFT 5 =W F 597 WU -5 % 35 A
= o 7

— TEET ()
EEICil ST
(60000 5 =) (24000 5 =)
A 10% 15%
B 8% 12%
C 23% 18%
D 18% 14%
E 16% 20%
F 24% 1%

The ratio of the number of bovs in College F with the number of boys in College D is

T B =S o S W gaiasned D H S T HS H A e B ¢
[Question ID = 520][Question Description = 105_00_General_19_SEPT22_Q05]
1. 31:39

[Option ID = 2077]

2. 39:51
[Option ID = 2078]
3. 29:37

[Option ID = 2079]
4. 3799

[Option ID = 2080]
Topic:- 11_GP_SH1_Set1_B

1 o ) :
) In crder to develop students holistically a teacher should emphasize on

Tt % wag =9 H {9 6 o ) s w1 e 0 6 T W A g =ien

[Question ID = 521][Question Description = 106_00_General_19_SEPT22_Q06]

- subject knowledge only

[Option ID = 2081]
2. remedial claszes for slow learners

[Option ID = 2082]
3. explain the concept well

STHST W1 S-S 9 T

[Option ID = 2083]
4. outcome bazed education along with value education

el JEH] e % wa-wa ahems s e



2)

[Option ID = 2084]

Which of the following levels of Bloom's taxonomy ig achieved by rote learning”

T T ATH T HEleE § d S S w5 A —H G T a1 A A

[Question ID = 522][Question Description = 107_00_General_19_SEPT22_Q07]

1.

4.

Remembering

THIO AT

[Option ID = 2085]
Applyving

[.H]- LR e

[Option ID = 2086]
Analysing

[Option ID = 2087]

Understanding

AT

[Option ID = 2088]

Match Tast T with List IT :

List IT
(Learning Definitions) {Proponent)
(A) Learning is an organization of behaviour. (I} Guilford

(B} Learning 1z the change in behaviour resulting from | (II) Skinner
behaviour.

{C) Learning iz selecting the appropriate response and | (III) Garvet
connecting with the stimulus.

(D) Learning iz a process of progressive behaviour adaption. | (IV) Theorndike

Choose the correct answer from the options given below ;

r-

THI-1%F 17 T G-I 9 Fif=e -

711
(s i aframm) (wia w1576
(A) TH =EEE F AT 7 ) s
(B) SI0TH =IEEW F GRS SI9ET § TREed 7 (II) T=Fw
(C) wAter™ FHMET TR & S99 T 50 59 IEwE | wen Al | (1D e
(D) e wfesfies =9ew SHFeH 1 T O 2| (IV) g+

d= fou v farear 5 T 39 1 =99 Haw

[Question ID = 523][Question Description = 108_00_General_19_SEPT22_Q08]

(AMD, (B(IID, (C)-(IL). (D)-(IV)




[Option ID = 2089]
2. (AIV)(BY-IID. (C)-(I0. (D)-(1)

[Option ID = 2090]
3. (A)(IID. (B)-(IV), (C)«(I), (D)-(I)

[Option ID = 2091]
4. (A)HIID), (B)-(I). (C)-(IV). (D)-(IT)

[Option ID = 2092]

4)  Which of the following 1z a Group-centered method of teaching-learning?

THETEATES H HA-H T AT = Uk HHE - g F
[Question ID = 524][Question Description = 109_00_General_19_SEPT22_Q09]
1. Providing lecture notes
[Option ID = 2093]
Team-teaching
L

[Option ID = 2094]

3. Demonstration method

9'*.5;;1 Juﬁ

[Option ID = 2095]
4. Bralnstorming

IEEie-ti

[Option ID = 2096]

5 . . . .
) Criven below are two statements : One 12 labelled as Assertion A and the other 1= labelled as
Reason R.
Assertion (4):  Dizcuszion forums are one of the Four Quadrants for MOOC.
Reaszons (R) ! Discussion forums are in-bult feature of learning management systems

{LMS).

In the light of the above statements. choose the most appropriate dnswer from the options
given below :

5= 71 W o0 E  wh sT9ee (Assertion (A)) % =9 § @S 2 A T 39% FA0 (Reasons (R))

ATHI (A) il O T o | L 0B e e e e

P (R) : ==t o siferm e e (weEe) #1 s e )
- . -, ¥ o _as P b = i

IFE FUE AR °H, {4 150 T (g " H O 39 3T =T ;ﬁﬁmr g

[Question ID = 525][Question Description = 110_00_General_19_SEPT22_Q10]

- Both (A) and (R) are correct and (R} is the correct explanation of (4)



(A) 3T (R) 21 |1 & =% (R), (A) i =& == 2

[Option ID = 2097]
2. Both (4) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(A) #1 (R)5F1 5# 2, =A (R), (A) 51 81 =gmea 44 2

[Option ID = 2098]
3. (A) 1s correct but (R) is not corvect

(A) TF 2, w (R) 591 951 7

[Option ID = 2099]

4. (A) iz not correct but (R) 1s correct
(A) = 2, Wi (R) 2

[Option ID = 2100]

6) FResponses to open-ended questions are
T 91 F WA SHFAT w

[Question ID = 526][Question Description = 111_00_General_19_SEPT22_Q11]
1. Quantifiable

r P N
FEHETEA (SRR )

[Option ID = 2101]
2. Realistic

AT
[Option ID = 2102]

3. Bubjective

i i

e

[Option ID = 2103]
4. Tmitative

[Option ID = 2104]

7 Which one of the following 13 a tool of grounded theory?

st fagia F1 Fetetga 1§ wbE s (79) 77

[Question ID = 527][Question Description = 112_00_General_19_SEPT22_Q12]
1. Constant comparison

r -. T
[Option ID = 2105]

2. Aunditing
[Option ID = 2106]

3. Deconstruction of narratives



HIEE T TAAmEATET ()

[Option ID = 2107]
4. TUse of uncritical language

[Option ID = 2108]

8)

Which of the following are sources of data in historical research?

(A)
(B)
(C)
(D)
(E)

Personal obzervation
Focused group discussion
Oral testimony

Relics

Actuaries

Choose the correct answer from the options given below :

e i B o o s B 5 e A 2

(Ay TS IR

(B)  Hi=a (wEes) wgE ==

(C)  Hitgs @i

D) ==

(E)  #Hm=

U T faeEegT § H WA 39T 99 i

[Question ID = 528][Question Description = 113_00_General_19_SEPT22_Q13]

. A B.COnly

F=91 A, B. C

[Option ID = 2109]
2. B. C,D Only

FaAB.C. D

[Option ID = 2110]
3. A C.DOnly

FaF A C.D

[Option ID = 2111]
4. C.D.E Only

FFaC.D. E

[Option ID = 2112]



9)
Which of the following are the actions of an ethnographic researcher?

(A) He zets immersed in the Social Setting.

(B) He avoids collecting documents about the group members he is researching upon.
(C) He ohserves the behaviour of sroup members.

(D) He listens to their conversation.

(E) He does not interview the participants when they are not amenable to observation.

Choose the correct answer from the options given below :

FefleiiEs | 5 FiE SHaA1d 5 570 FeH] ATGEA o i

(&) 7= ot qiEE 3 aEgE A

(B) @ = WA F HeEAl & AW § wAEA 5 5UEW § A=A £, T W 9E ma o A A
(C) 3% 9% F "EEAl & SAawn F TEa o vl

(D) =% 5 A WS S A

(B) =% TAgEl &1 S1EEST 96 =0 =, 96 9 99h90 % 30E 9851 7510 B

fen 0 T3 § ® 59 3 W =99 e

[Question ID = 529][Question Description = 114_00_General_19_SEPT22_Q14]

1. A B.COnly
Fas A, B. C
[Option ID = 2113]
2. A C.DOnly
FaAAC.D

[Option ID = 2114]
3 B.C.DOnly

Fa9 B. C.D

[Option ID = 2115]
4. C,D.EOnly

#95 C. D, E

[Option ID = 2116]

10)
Given below are two statements ;

Statement 1 : Non-probability samples use available respondents and no specific
Selection procedure is followed.

Statement IT : It 1z a fact that non-probabibity samples accurately veflect the

population characteristics.

In the light of the above statements. choose the correct answer from the options given helow :



i e o (e L

T [: SO s SUewd SOETEl I G A AW R G 9 I S 6

AT =T 2

T [L: 97 WF a2 2 1% U TAeE 9iEg 2 A ] i R F Ui e 2

T T B e D e B B i L o e | BB B o e T T

[Question ID = 530][Question Description = 115_00_General_19_SEPT22_Q15]

1. Both Statement I and Statement 1T are true

Fo [ 5 O 54 59 7
[Option ID = 2117]
2. PBoth Statement I and Statement 1T are false
Fo 1 5 I o 9979 2
[Option ID = 2118]
3. Statement I1s true but Statement 1T 1= false
w1 aeg 2, wiw T 1 o950 2
[Option ID = 2119]
4. Statement I is Palse but Statement IT is true

[Option ID = 2120]
1)  Communication apprehension is often deseribed as

AW AT T TH EY 0 90 2E 2

[Question ID = 531][Question Description = 116_00_General_19_SEPT22_Q16]

1. Social relativity

[Option ID = 2121]
2. Peycho-social barrier

TSI AT

[Option ID = 2122]
3. Bocial anxiety

T ST

[Option ID = 2123]
4. Social ambizuity



[Option ID = 2124]

12) The grapevine communication 1s often driven by

- (T9ETET) JU90 URL SHH e 5 8
[Question ID = 532][Question Description = 117_00_General_19_SEPT22_Q17]
External professional agencies
ATl AT T 3

[Option ID = 2125]
2. Competing orgamisations

T T o
[Option ID = 2126]
3. Top management of an organisation
i 7 % == omeE A
[Option ID = 2127]
4. Social networks of employvess
FHSNAT % AEN A 27 J

[Option ID = 2128]

13)
Human communieation involves
(A) Message transmission
(B) Message reception

(C) Verbal and non-verhal messages
(D) Power-packed messages only

{E) Meszages for non-consumption

Choose the correct gnswer from the options given below :

TTE T g W B R

(A)  zEE

(B) = wEw

(C)  wmfscs st T—anfess a@ea

(D) == i 59 (TEUES) JE

(B)  Fr—swam 2w

o T el B 5 HE 39 0 = i

[Question ID = 533][Question Description = 118_00_General_19_SEPT22_Q18]
. A B COnly
FaT A B C

[Option ID = 2129]
2. B.C.DOnly



#a9 B. C.D
[Option ID = 2130]

3 B.D.EOnly
= B. D. E

[Option ID = 2131]
4. A C.EOnly

FaTA.C.E

[Option ID = 2132]

14 :
) Given below are two statements :

Statement I :  In symbolic communication. power operates through images.
Statement IT ¢ Such an advantage of exercising power does not exist 1 other types of
cominunication.

In the light of the above statements. choose the correct answer from the options given below :

= 7 FeE R 2

Fog I WdFCSE oW O, I a6 9 J SETed 2l

Fq I1:  91F U= 1 ©6 WhE %1 @9 9U9Y & 5% THEl § fEEEE T8 2E B

T TR F A °, 96 7w EEem 8 8 o8 I 6 = i

[Question ID = 534][Question Description = 119_00_General_19_SEPT22_Q19]

' Both Statement [ and Statement IT are true

[Option ID = 2133]
2. Both Statement I and Statement IT are false
Fam 13 I oM #5802

[Option ID = 2134]
3. Statement I iz true but Statement IT is false

2 15909 &, =i Fee I 9509 7

[Option ID = 2135]

4. Statement I is false but Statement IT i= true

F99 I 9O 2, =il w99 [ 9 2

[Option ID = 2136]



15)
Mateh List Twith Last IT :

List I List IT
(Communication context) iRelated factor)
(A) Physical (I}  Group norms
By Cultural (II) Sequential positioning

(C) Social and Psyechological | (III) Tangible environment
(D) Temporal (IV) Value system

Choose the corrvect answer from the options given below !

[

FHI-1 % T4 71 g1 e Hifw :

-1 Te-10
(=rgor T5H ) (T=Tge )
(Ay ifaH (I} =9 5FF
(B) AEFE (II) A TFEF AarEa
(C) FHI=F 3 g (ITT) = T
(D) =ferh (IV) 5= Toret

= Tou m faped § F " 3 W =6 Hian

[Question ID = 535][Question Description = 120_00_General_19_SEPT22_Q20]
1 (AJ(ID), (Bi-(IID). (C-(IV). (D)-(1)

[Option ID = 2137]
2. (AIID). (By-(IV). (Cy=(I). (Dy-(1I)

[Option ID = 2138]

3. {A)IV). (B)-(I). (C)-(IT). (D)-(III)

[Option ID = 2139]
4. (A)D), (B)-(ID. (Cy-(TID. (D)-(IV)

[Option ID = 2140]

16 i :
) Find the average of the squares of the consecutive odd numbers from 1 to 21.

L | 21 % =9 F0F =an Sl % 2 # dEa T8 Fie|

[Question ID = 536][Question Description = 121_00_General_19_SEPT22_Q21]
1162
[Option ID = 2141]
2. 159
[Option ID = 2142]
3. 161

[Option ID = 2143]
4. 160

[Option ID = 2144]



17
) Two numbers are in the ratio of 7:8 . If the difference between the numbers is 30. then find

the numhers.
7 HIEEG T:8 o AU A 41 E 2l A% I WS & 5rd H e 30 2, 7 e # S|
[Question ID = 537][Question Description = 122_00_General_19_SEPT22_Q22]

1. 915,945

[Option ID = 2145]
2. 905.235

[Option ID = 2146]
3. 220, 250

[Option ID = 2147]
4. 210, 240

[Option ID = 2148]

18)
Two Shopkeepers ‘A’ amd ‘B’ sell certain kind of machines at the same list price. However.

shopkeeper "A’ allows two successive discounts of 20% and 15% and shopkeeper ‘B’ allows two
suceesaive discounts of 10% and 25% . Which of the following statements 1s correct?

‘A #R B9 THAER [ivEn T =9 w6 EEE g ged W A 9 i, TR AT 20% #
15% 1 7 FOF T2 T 2 A0 g B 10% 3T 25% 1 7 #0092 5 2| Aeteahes e 8
RaEE T i

[Question ID = 538][Question Description = 123_00_General_19_SEPT22_Q23]

1. A’ offers more discount

[Option ID = 2149]
2. T offers more dizscount

[Option ID = 2150]
3. Baoth A" and ‘B offers saime discount

A" HCB UAH B 90 7

[Option ID = 2151]
4. A’ offers 35% discount and ‘B’ offers 30% discount

‘A" 35% %2 T R 3 B 0% g AW B

[Option ID = 2152]

19) At what percent of compound Interest per annum. a sum of monev will double 1n 14 years?

Tohe Wi i S04 Sl = F1 50§ TF G911 14 F9 1§ 27 T & e 7
[Question ID = 539][Question Description = 124_00_General_19_SEPT22_Q24]
1. 44;_!,'}

[Option ID = 2153]

2%



[Option ID = 2154]
3. 6%

[Option ID = 2155]
4. 6.5%

[Option ID = 2156]

20)  Find the wrong term in the given series: 6. 11. 18, 27, 34. 51. 66. 83

1 e g § TR uE w1 we WA 6. 11, 18. 27, 34. 51. 66. S3

[Question ID = 540][Question Description = 125_00_General_19_SEPT22_Q25]

1. 34
[Option ID = 2157]
2. 51

[Option ID = 2158]
> 83

[Option ID = 2159]
4. 11

[Option ID = 2160]

21) N . : .
If the statement ‘All women are honeat' is given as true. which of the following propositions

can be mferved frrom it7

(A) ‘Wo women 1s honest' is false.

(B ‘Some women are honest’ 1 true,

Q) ‘No women ig honest' 12 undetermined
(D) ‘Some women are not honest' 1s false

Choose the correct answer from the options given helow :
a7 TE FeA- HH SR THERE 7 WE F ET T AT T 2 A 399 FeeEn § |/ Fe e
AT A A 27
(A)  ‘wis i HiEen sAEEE FE 2. A B
(B) ‘TS utrem somEm A, TE
(Cy ‘= oft wlfeen Saan 98 2, e R

(D) 'F9 OiEem HEEE T 2, T A

fan o fageai @ & 94 39 =1 999 FirAn

[Question ID = 541][Question Description = 126_00_General_19_SEPT22_Q26]
. A B.DOnly

Fa9 A B. D

[Option ID = 2161]
2. Band D Only

a5 B3 D

[Option ID = 2162]



3. B.CandD Only

FaA B, C. 70 D

[Option ID = 2163]
4. CandD Only

Fae C @7 D

[Option ID = 2164]

22) )
(iven below are two statements :

Statement I ¢ Tao form the contrapozitive of a given proposition. we replace its subject
term with the complement of its predicate term. and we replace its

predicate term with the complement of 1ts subject term.

Statement T :  All contra pozitions are valid.
In the ight of the above statements, choose the correct answer from the options given below !
= w wE T R

FHAL:  FH UF 4 T AR # TAEeE sAH F o @ G995 W SEE T 9w 5 oEE |

TSI 0 7 W, 59 BE 149E Ug % 30 @99 U5 F U ¥ et e A
g IL: = aidaas 49 7

STIF FYA F AE0F T, 919 50 T 9w 5§ "9 39 F 999 Fran

[Question ID = 542][Question Description = 127_00_General_19_SEPT22_Q27]

1. Both Statement I and Statement IT are true

w131 I o &g 7
[Option ID = 2165]
2. Both Statement I and Statement II are false

[Option ID = 2166]

3. Statement I is true but Statement 11 is false
Fuq L o= 7, =i w4 11 55 2

[Option ID = 2167]

4 Statement Iis false but Statement 1T is true

oA | 96 B, = T4 [ 80 2



[Option ID = 2168]

23 . , . . . . . )
) Which of the logical informal fallacy 1z committed in the following argument "Mr. X used
abusive language toward the child whe threw a stone at hus car. Since child abuse 1= a crime.

he should be reported to the authorities™

e g6 9 FEE Al SHIRIE S TR T A— e TER T S8 S o i GeAdaTd e
AT T, TS SE FE W U TR T a1l g e GeAaER U S 7, SHIET 36 AW T T
1 g1 oAl = 7

[Question ID = 543][Question Description = 128_00_General_19_SEPT22_Q28]
1. Appeal to Emotion

T-FI-:[WIE[ HATA=
[Option ID = 2169]
2. Hasty generalisation
[Option ID = 2170]
3. Eguivocation
[Option ID = 2171]
4. Appeal to force

st Az

[Option ID = 2172]

24)
Given below are two statements :

Statement T :  Anmnstotelian syllogism regards deduction and induction as inseparably
related.
Statement IT :  The Nyvayva school of classical Indian philosophy regards deduction and

induction as two aspects of the same process.

In the light of the above statements. choose the most appropriate answer from the options

given below :
H= T e e E
FR L 9 A A R S AT F YA =Y " a9 2

wua [ : S 9ATE YRR =0 O A 3 APEE W U B UES] F %1 94l R EY

T 2

T FEA F AR §, A9 (50 T @Ee §OH 9EH S0 ST 6 984 6



[Question ID = 544][Question Description = 129_00_General_19_SEPT22_Q29]

1. Both Statement I and Statement IT are true

FoF [ 3 I 59 &a 2
[Option ID = 2173]
2. Both Statement [ and Statement I1 are false
e 1 I/ 7= 7
[Option ID = 2174]
3. Statement I is tinie but Statement IT 1s false
=4 190 2, i $u 1= 2
[Option ID = 2175]
4. Statement I1s false but Statement IT 1= true
g 1 a7, = Fi a3
[Option ID = 2176]

25) In Nvava Svllogism all the three terms stand synthesized 1n which of the following steps of
the inferential process?

= = 1 AAETE TR % FefetEd B O s T 8 o 9 oor afee w2
[Question ID = 545][Question Description = 130_00_General_19_SEPT22_Q30]
1. Example (Udaharana)

ETA LU

[Option ID = 2177]
2. (Conclusion (Nigamana)

£ r

e ()
[Option ID = 2178]
3. Application (Upanava)

EEE R

[Option ID = 2179]
4. Reason (hetu)

[Option ID = 2180]

26 . . s . .
) ‘Which Indian Act makes it 1llegal to knowingly =pread a computer virus?

TR B A R AT s A H FE 9eE e 1 S O G A

[Question ID = 546][Question Description = 131_00_General_19_SEPT22_Q31]
1. Data protection and Security Act. 1997

TR T g AT A, 1997



[Option ID = 2181]

2. Information Security Act. 1993

AT TreT SigEan, 1998

[Option ID = 2182]
3. Information Technology Act. 2000

AT TR ST, 2000

[Option ID = 2183]
4. Computer Mizsuse and Cyber Act. 2009

T TEEINT 9 A S, 2000

[Option ID = 2184]

27)  Congzider the following worksheet:

A | B G D
1 5 10 | 50
2 15 | 50
3 20 |50
=

Which of the following formula should be entered into the eell D1 =0 that when it 1= copled
into the cells D2 and D3, 1t gives the correct values as shown in the range D1: D37

TA=TeEs A - T R

A (B (€ |D

[}
i
i
on
[5]

FgF D1 T W T T FF T 94 T= T AW aiF 99 FgF D2 A D3 T R w0 6 9w A9 DLD3
w1 5 H 70T FET W god W A Y

[Question ID = 547][Question Description = 132_00_General_19_SEPT22_Q32]
' B1*3C81

[Option ID = 2185]
2. $B%1*(C1

[Option ID = 2186]
3. B1*C1

[Option ID = 2187]



4. 3$B31*3C81

[Option ID = 2188]

28
) Which of the following three numbers (A-C) in decimal, octal and hexadecimal nofations.
respectively, 1s/are equivalent to (11011001)= in binary notaticn?
(A) (217,
{B) {661)s
Q) (D96
Choose the correct answer from the options given helow :
TIHE, ALET] AT Ursa JEE #ead § 95 @A (A-C) ¥ H wHE-HiE g9 @%ad § (11011001 )2
= HaE 27
Ay (217,
(B) {661)s
(C) (D9

o 7w faFeTt © 4 wE I H =9 Al

[Question ID = 548][Question Description = 133_00_General_19_SEPT22_Q33]

1. A Only
Hae A
[Option ID = 2189]
2. B Only
a9 B

[Option ID = 2190]
3. Aand B Only

Fae A 37 B

[Option ID = 2191]
4. A and C Only

FAAA A C

[Option ID = 2192]

29 )
) Gaven below are two statements :

Statement [ : Cache memory 1= volatile memory and is much slower than Random

Access Memory (RANM)

Statement IT :  CDs. DVD= and Magnetic Tapes are all optical media devices.

In the lLight of the above statements. choose the correct answer from the options given helow :



= 51w fem o E
FeA 1 o WE UF A9 WA 2 T anies e e (9w T uE) 5 w54 4 2

Fem I 1 S0, 6 A S s geebe 2n wdt wewiE e G A

ST FUE F A O, 49 B TEew § 9 o I o 99 Fien

[Question ID = 549][Question Description = 134_00_General_19_SEPT22_Q34]

- Both Statement T and Statement IT are true

oA [ 3 11 51 |7 2

[Option ID = 2193]
2. Both Statement I and Statement 1T are false

[Option ID = 2194]
3.  Statement Lis true but Statement I is false

Foa 15 2, #fT w9e 11 390 2

[Option ID = 2195]

4 Statement I is false but Statement I is true

F94 1 987 7, A FoE [ 2

[Option ID = 2196]

30) )
Which of the following statements are correct regarding CERT-IN?

(A) CERT-IN is the national nodal agency for responding to computer security incidents
az and when they occur,

{B) CERT-IN 1= operational since January 2014,
(C) Forecast and alert of cvber security inecidents is one of the functions of CERT-IN,

Choose the ecorrect answer from the options given below :
i § AW F-AE = F Wey ° T=eies § 9 HE ° w0 TR A7
(A) 2 R A - WE U g aen ded TeE 6 AH W Ue 7 1Y e e 2|
(B) i3 #W A — @ v S, 2014 | 5= § A

(C)  WTEeR T HEATS F GEAAR FAl 3R W HEA A A S W A — 0 UA o e 9 0

70 T Tl 5 | Hel I = i

[Question ID = 550][Question Description = 135_00_General_19_SEPT22_Q35]
" ABandC



A B#RC
[Option ID = 2197]
2. Aand B Only
FaA A AT B
[Option ID = 2198]
3. Aand C Only
Fae1 A #0 C
[Option ID = 2199]
4. Band C Only
Fa4 B 57 C

[Option ID = 2200]

31) . N : .
(Geothermal field requires combination of following three conditions
(A) A natural underground source of water
(B) A mountain in the vicinity

{C) An impermeable laver
(D) A coal mine in the vicinity

(E) A large mass of hot rock in the vicinity
Choose the most appropriaté answer from the options given belaw :
(A) T WTEEE e 99 @E
(B) HWHEH T A
() U = TEE
(D) =T § U e @
(E) == | 995 79
Fr9 e o el § O Oeh I 3 o =99 A
[Question ID = 551][Question Description = 136_00_General_19_SEPT22_Q36]
- A C.EOnly
FaT A C3TE
[Option ID = 2201]
2. A C.DOnly
FAAACHTD

[Option ID = 2202]
3. B.C.D Oaly

FaE B. C @7 D
[Option ID = 2203]
4. B.D.E Only
Faa B. D37 E

[Option ID = 2204]



32)

Mateh Last T with List IT:

List I Tast IT
(Protocol/Summit) {(Theme)
(A) Paris Agreement (I} Ennssions trading
(B) Eyvoto Protocol (II) Ozone depletion
(C) Rio declaration (IIT) INDCs
(D) Montreal Protoecol (IV) Environment and development

Choose the correct answer from the options given below :

-1 =19 = gEi-I e i

-1 =

(= /o) (forma)

(A) ofem FaE () =ose =mn

(B) 2 AR () (I)  =T7m FFem
(C)  frm zEmm (I =7 v 21 4 v
(D) =i TR (W) (IV) =T = T

/= fom 0 T © 1 AR I w5 =999 S

[Question ID = 552][Question Description = 137_00_General_19_SEPT22_Q37]
T (AT, (B)-(I). (C)«(IT). (D)(IV)

[Option ID = 2205]
2. (A)(D), (B)-(ID). (O)-(TV), (D)-(TIT)

[Option ID = 2206]
3. (AYIID), (B)-(I). (C)-(IV). (D)-(ID)

[Option ID = 2207]
4 (A)-(D). (B)-(ID), (C)-(IIT), (DI-(IV)

[Option ID = 2208]

33)

Given helow are two statements ;

Statement [ :  Natural erosion of the soil is gradual removal of the top soil by natural
processes.
Statement IT :  Agcelerated ercsion of the =il 1= caused due to man made activities. The

rate of accelerated erosion i= equal to the rate of soil formation.

In the light of the above statements. choose the correet answer from the options given helow :



4 o1 FoE TRr T A

I: =@ T WEIR g4, TR S g S AR H6E A A
T2 IL: a1 A Y470 Al e & R A 2| T, Y-S0 i o7 957 9 T 6 O
L]
TP FAA F ATEE A, 59 e e § e w = i

[Question ID = 553][Question Description = 138_00_General_19_SEPT22_Q38]

1.

Both Statement I and Statement IT are true

o 1 37 115 979 &

[Option ID = 2209]
2. Both Statement I and Statement IT are false

Fo 1 #R I 5H 980 =

[Option ID = 2210]

3.

Statement I is true but Statement II 1s false

w99 19 2, 9 %99 11 99 2

[Option ID = 2211]

4.

Statement I is false but Statement II 1= true

o I 3 7, WA FgA 0 A &

[Option ID = 2212]

34)

Chlorine in drnking water 1s used for

(A)
(B)
()
(D)
(E)

Dizinfection
Removal of hardness
Odor treatment
turbidity control

Removal of iron and manganese

Choose the correct answer from the options civen below :

UH Al § FAAE ) TEN S 8 T R % e ) e w7

FEEAT T

(A)
(B)
(C)
(D)
(E)

g IET

T30 T T=EET § | HAE S S =E R




[Question ID = 554][Question Description = 139_00_General_19_SEPT22_Q39]

1.

4.

35)

A C.E Only

Fae A, CHT E

[Option ID = 2213]
A B, COnly

FaF A B3w C

[Option ID = 2214]
A. D. E Only

FaE A, D 3 E

[Option ID = 2215]
C. D. E Only

FTAC.DFETE

[Option ID = 2216]

Given below are two statements :

Statement I : Volatile Organic Chemicals (VOCs) are among the most commonly found

contaminants in ground water.

Statement 11 : The concentration of VOCs in ground water is much less compared to

that in surface waters.

In the light of the above statements. choose the correct answer from the options ziven helow :

i =1 Y T T E

Fe 1 : TS S T (), g9 § W 5 e mﬂ.’rrﬂmﬁ@—wﬁ g

FeR IL:  FF T AT FOHGT 98 T HGeET 5 Fw6 FE A

I FUE % AT H, A 50 T 9w O | HEl 300 H =99 i

[Question ID = 555][Question Description = 140_00_General_19_SEPT22_Q40]

1.

2.

3.

Both Statement I and Statement II are true

F24 I 5 I oHi o9 2

[Option ID = 2217]
Both Statement I and Statement IT are falze

[Option ID = 2218]

Statement I is true but Statement IT 1s false



F94 18eg 2, w4 94 11 559 2

[Option ID = 2219]

4. Statement [1s false but Statement IT is true

79 1 9579 &, wiaA F99 [ 53 2

[Option ID = 2220]

36)
Which Educational Institution was the first to start colleze classes for women?
QE o T = e B e = e Mot B e o | e 0 e L 1 o e 0 e e e e e

[Question ID = 556][Question Description = 141_00_General_19_SEPT22_Q41]
1. Central Hindu Girls Schoal

i oy e e

[Option ID = 2221]

2. Vasanta College

; =

[Option ID = 2222]
3. MNhranda House

[Option ID = 2223]
4. Bethune School for Girls

[Option ID = 2224]
37)  Indira Gandhi National Open University was established in the vear

[Question ID = 557][Question Description = 142_00_General_19_SEPT22_Q42]
11975
[Option ID = 2225]
2. 1980
[Option ID = 2226]
3. 1985
[Option ID = 2227]
4. 2000

[Option ID = 2228]

38)  Which goal of the 2030 Agenda for Sustainable Development adopted by India in 2015 seeks
to “engure inclusive and equitable quality education and promote lifelong learning

opportunities for all™?



WIR ET T 2015 A SE A9 GEE F v 2030 FEOE w1 A6 @ w5 5 F e e s
AT AT e AT e A A A sEe A A 22

[Question ID = 558][Question Description = 143_00_General_19_SEPT22_Q43]
' Goal 2

5T 2

[Option ID = 2229]
2. (Gpal4

il

[Option ID = 2230]

3. Goal6
w6
[Option ID = 2231]
4. (Goal 15
5T 15

[Option ID = 2232]

39 i .
) Given below are two statements :

Statement [ : The National Education Policy 2020 envisages that the extant 10+3
structure in School Eduecation will he modified with a new pedagogical
and curricular restructuring of 5+4+443 covering ages 3-18,

Statement IT :  The National Edueation policy 2020 envizages, that prior to the age of
5 every child will move to a "Preparatory class” or “Balvatika”. which
has an ECCE- gualified teacher.

In the light of the above statements. chooze the most appropriate answer from the options

given below :

FgA 1. TEE e il 2020 w1 feE R F EEeE AT O aanE 1042 3 w9 fogeneE d@m
TEEE TS 6 A A W 3-18 AET F S0 5+4+443 W e s A1)

Fom I0:  TIEE TomT 19 2020 F1 fO9w 2 TF w9 99 3 FR 9 W T A= UF aAnl FwAn @ Cane
AN H HA AE U 5 HLHE - SR I s =
TR FYA F AEE 4, 9 T e § A geE 395 30 1 S i

[Question ID = 559][Question Description = 144_00_General_19_SEPT22_Q44]

1. Both Statement I and Statement II are correct

oA I3 A =91 7

[Option ID = 2233]

2. Both Statement I and Statement II are incorrect



Fe [ &0 I =M e 7

[Option ID = 2234]
3. Btatement I is correct but Statement II 1s incorrect

Fad I A 2, wF e e

[Option ID = 2235]

4. Btatement I 1= incorrect but Statement IT 1s correct

FoA [ 7A 7, A e IO 7

[Option ID = 2236]

40)
The National Education Policy (2020) has recommended the replacement of the UGC by an
umbrella organization. the Higher Education Commission of India (HECI) wath its four
Verticals, namely-

(A) National Higher Educational Regulatory Council
(B) General Educational Council

(Cy  Medical Council of India

(D) National Accreditation Couneil,

(E) Higher Education Grants Council.

Choose the most appropriate answer from the options given below :
e foEn JifE (2020) 7 2SN T TR TA-ETeT ° UEed e R s fi 7 TEEew am awes
T 9T A (UELS AT ) AT S W SsAta A e -

(A) TEE = SEPE A TR
(B) = S aie

(C) WAt Tatem qims

(D) TEE TR T

(E) == [oa0 HaH s

= fom 7o faepeal ® @ weE S9EF I F g A

[Question ID = 560][Question Description = 145_00_General_19_SEPT22_Q45]
. A B C.DOnly

Fa4 A.B.C.D

[Option ID = 2237]
2. B.C.D, EOnly

77 B.C,D. E

[Option ID = 2238]
3. ‘A C.D.EOnly

Fa9 A C.D. E

[Option ID = 2239]
4. A B D, EOnly



=7 A.B.D. E

[Option ID = 2240]

Topic:- 11_GP_SH1_Set1_C

1)

1.

Read the following passage and answer gquestions from question:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolen
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of uinperialism, the languages of colonial powers
became the languages of administration. codified laws. higher education. science and
technolozy in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afiiea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acquire frezh
applications; specialised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage is not a corpus of learning, but an
mnstrument adapted to human purposes.

ettt T 1 e i 1w geg 4650 F TR A

T [ F, ATTE - A ST Ui AT 9 e a9 v e A
] A S, G IRE (9 A A T S, WA SR At Jeiead e 9 A
AT} WETSERE F I H SRR A i 9 # S06 S0eEe 5 6 W9, Seams Fe, I e,

TSI 371 AT S NS 91| SHH 39 T ST S e A T A S A O A 1 T
ufer i AFTE R FS 9o 8, W9 =T E AU 39 s S wmand, {9y st 1@ s ot =38
afs s 70 F| =R F UwE F e S@E wEEl 520 & e 9 i, I sem A A 8, e
afrerdl sufieR o i g 6 3 Rt ol ot S adie o e T 2 e aEe e
T B 7| S SATE s @HT F A s Tl @ ufeen ® s afat m # o fowd
g U qFEAA F wEE §) TRl 2, w9 T 8 A1 F9) q@ 7E 9] 3 @Ew 65 99 F A9 1,
IEEF TEAE H, OETAE S 5, A 4R WiaE S ® BE AW MEE 8 39 T
WETTFAE F WA B [FhE w7l 7| SEET 9E AT 399 9ee 7 IR T WA @iEa we B

TITETFA ATl SRl AT S9EP § A1 A A #1909 SiavEd 5 2| 9% WeRA 2H w
i !

Historieally. minority languages were the basis of

TR SIEH T, eqEeas W [EeEs F A A

[Question ID = 561][Question Description = 146_00_General_19_SEPT22_Q46]

Medieval culture



2.

3.

4.

2)

T TR

[Option ID = 2241]
Cultural independence

[Option ID = 2242]
Scholarship

h‘di
[Option ID = 2243]
Religious harmony

Ko

[Option ID = 2244]

Read the following passage and answer guestions from question:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolen
by a small minority, such az Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of imperialism, the languages of colomal powers
became the languages of administration. codified laws. higher education. science and
technolozy in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in seme of the now independent nations of Asia and Africa. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symbols of human experience. Perceptions underlving them have undergone
change over time and In response to new situations. Morsover, all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. In
political and economic structures. Words, therefore, change their meanings and acquire frezh
applications; specialised technical terms pass into general usage. And new words are
mmvented. The process remunds us that lansuage is not a corpus of learning, but an
mstrument adapted to human purposes.



et T 1 afe S uwT We 4650 F TR A

T g i, AT - S A SN O ATSE S e a1 v e A
AT St 2 s, G uetE AT A e s, e s S et e § e
AT} HHTSERE F I H SMEErE A A A Sk SueEE 5 6 9, deamg e, = e,

T 371 AT S MU 591 | SHH 39 T ST F G e 7 @ A 5 A § e 1w T
ufsr it AFTE F S 9o 8, W 99 g B AU 3w S 9, oy swten @ off 58
Pufs = 7w F| o0 | T F e SR ugE g9 oS A i, FEEn e /oAt A, e
afrad wifiee o Sl & 6 2 fafw e v 6 adem @ = w #) os g
T B E| 9 S A 5 F @Y A 5 i 3 b F e afata g oy S ad
qETC U qEAA S ST Gl TEAl 2. FE 9 T | A1 F 9 S| e 9] 3 EEe 65 3 F 89 6,
IETGE AT B, HENAF SRl §, T 4R WieE W B ORE 9 S ®O3erE 98

HETAFAA = WA § FREd B £l SHET WE W99 o9 §geid 2 i 90 S siiEa i B

B[kl Tl e e e e e o e ol e e e o B B | O 0 e e A B e - s
e ~

The lanzguage of the conguerors was used mn

fermaat Fir wm w1 3T e A a9

[Question ID = 562][Question Description = 147_00_General_19_SEPT22_Q47]
1.

Ruling over landed elite

T AT W IS A T

[Option ID = 2245]
The admimstration of law

FHA F TOEA |

[Option ID = 2246]

Colenising the other countries

[Option ID = 2247]
Creating social inclusiveness

[Option ID = 2248]



3)

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by relimious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of record-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed ehte. would bhe used in commerce.
adminmistration and law., During the era of imperialism, the languages of colonial powers
became the languages of administration, codified Iaws. higher education. science and
technology in their own colonies. This held back the develoopment of older languages
excluded from thesze spheres. To a varving extent. languagzes such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Carbbean. These have emerged from subjection to different alien powers.
Woards are symbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages are in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments 1n thought and knowledge. in productive technigues. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acqguire fresh
applications: specialised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage 1s not a corpus of learning, but an

mstrument adapted to human purposes.

et T 1 afe S uwT We 4650 F TR A

T g i, AT - S A SN O ATSE S e a1 v e A
AT St 2 s, G uetE AT A e s, e s S et e § e
AT} HHTSERE F I H SMEErE A A A Sk SueEE 5 6 9, deamg e, = e,

T 371 AT S MU 591 | SHH 39 T ST F G e 7 @ A 5 A § e 1w T
ufsr it AFTE F S 9o 8, W 99 g B AU 3w S 9, oy swten @ off 58
Pufs = 7w F| o0 | T F e SR ugE g9 oS A i, FEEn e /oAt A, e
afrad wifiee o Sl & 6 2 fafw e v 6 adem @ = w #) os g
T B E| 9 S A 5 F @Y A 5 i 3 b F e afata g oy S ad
qETC U qEAA S ST Gl TEAl 2. FE 9 T | A1 F 9 S| e 9] 3 EEe 65 3 F 89 6,
IETGE AT B, HENAF SRl §, T 4R WieE W B ORE 9 S ®O3erE 98

HETAFAA = WA § FREd B £l SHET WE W99 o9 §geid 2 i 90 S siiEa i B

B[kl Tl e e e e e o e ol e e e o B B | O 0 e e A B e - s
i "

Imperialism was responsible for

TS g F T Sl A

[Question ID = 563][Question Description = 148_00_General_19_SEPT22_Q48]

1.

2.

Codification of law

[Option ID = 2249]
Racial equity

TEATE AT



4.

4)

[Option ID = 2250]

Primacy of local languages

T HIEE] F1 WH
[Option ID = 2251]
Exclusion of old languages

[Option ID = 2252]

Read the following passage and answer guestions from guestion:

Certain languages came to aeguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minorty. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced hy
conguerors. who became a ruling and landed elhte. would be used in commerce.
administration and law. During the era of unperialism, the languages of colonial powers
became the languages of administration, codified Iawe. higher education. =science and
technology in their own colonies. This held back the develoopment of older languages
excluded from these spheres. To a varving extent. languages such as English and French Still
hold this position in some of the now independent nations of Asia and Afriea. This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symhbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages ave in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge. in productive technigques. in social relationships. in
political and economic structures. Words, therefore, change their meanings and acquire fresh
applications; speciahised technical terms pass into general usage. And new words are
invented. The process remunds us that lansuage is not a corpus of learning, but an
mmstrument adapted to human purposes.
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One of the characteristics of languages is
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[Question ID = 564][Question Description = 149_00_General_19_SEPT22_Q49]

1.

2.

3.

5)

Constant change in meaninegs of words

 E R

[Option ID = 2253]
Subjection to different alien powers,

[Option ID = 2254]

The ability to survive against heavy odds.

[Option ID = 2255]

Their monopoly by the elites,

AT G 39 W OHIAER

[Option ID = 2256]

Read the following passage and answer guestions from guestion:

Certain languages came to acguire a special status introduced by religious leaders, scholars.
or conguerors. Sometimes they became the basis of power and privilege. A language spolken
by a small minority. such as Latin in Medieval Europe could become the medium of
scholorship, of vecord-keeping and of religious ceremony. A language introduced by
conguerors. who became a ruling and landed ehte. would be used in commerce.
adminmistration and law., During the era of unperialism, the languages of colonial powers
became the languages of administration. codified Iaws. higher education. science and
technology in their own colonies. This held hack the develoopment of older languages
excluded from these spheres. To a varving extent. languagzes such as English and French Still
hold this position in some of the now independent nations of Asia and Afviea, This can create
problems within these states. as well as between neighbouring countries. notably in West
Africa and the Caribbean. These have emerged from subjection to different alien powers.
Words are symhbols of human experience. Perceptions underlving them have undergone
change over time and in response to new situations. Moreover. all languages are in a state of
change sometimes gradual. sometimes rapid. They respond to new needs arising from
developments in thought and knowledge, in productive technigues. in social relationships. 1n
political and economic structures. Words. therefore, change their meanings and acquire fresh
applications: specialised techmical terms pass into general usage. And new words are
invented. The process remunds us that language i1z not a corpus of learming, but an
mstrument adapted to human purposes.
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The passage analyses lansuagez as a

Tw TS AT TETA e w9 H HAT A ¢

[Question ID = 565][Question Description = 150_00_General_19_SEPT22_Q50]

1.

2.

3.

4.

Corpus of learning

[Option ID = 2257]
Symbol of State power

T -1 1 TAF

[Option ID = 2258]
Tool 1o meet human purposes

HAATE AT R BT ST
[Option ID = 2259]
Formal link between old and new generations.

[Option ID = 2260]




